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1 Identify the leaf shown in Figure 1 by its correct common and botanical name. (2 marks)
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Figure 1 R
Credit: Image Richard Hughes o3
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2  Describe two main features that aid the identification of Fraxinus exc%sfor. (2 marks)
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3 Youhave been asked by a Local Authority t@ﬁﬁant a street tree that will create instant

impact. Name two types of appropriate@%ized nursery stock that would be suitable
for this situation. QJ{\’Z’ (2 marks)
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4 Explaintwo advantages and two disadvantages of planting bare rooted tree stock

inanew plantation area.

,b%
5  Youhave been asked to provide information that will be used to plant an L,q{b%n tree
in a built-up inner city area. QO
a) Summarise two pre-planting considerations that would needé@%e takenin
this situation. \}&Q
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b)  Explaintwo planting and two support aft&q@are requirements for a tree in the

urban environment. QO
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(4 marks)

(2 marks)

(4 marks)

See next page

o=



+

0174-514

6

Explain four different management techniques required for an ancient

14March2018 ==

woodland habitat. (4 marks)
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a) Nametwo plant species that are indicators of historic features within V{Q&%Iands. (2 marks)
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b) Identify the type of woodland associated with each ofﬁﬁ% plant species
named in 7a). <\, (2 marks)
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Explain two benefits and two I|m|tat|or(§\%f using natural regeneration as a woodland
management technique. QJ{\ (4 marks)
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9  Explain how four poor environmental conditions can lead to increased susceptibility

to decay in trees. (4 marks)
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10 Identify the type of rot on trees caused by the following: RS
. Honey fungus (Armillaria mellea). s\o&
. Beefstake fungus (Fistulina hepatica). O("QJ (2 marks)
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11 a) Listone invasive and one non-invasive tree ssment method. (2 marks)
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b) Foreach ofthetree assess&ne?f'lt methods named in 11a), explain one advantage
and one disadvantage.\QQJ (4 marks)
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12 a) Statethree defence processes trees can utilise in response to wounding
and decay. (3 marks)

b)  Explain how ‘Natural Target Pruning’ helps to minimise the damage that could

be caused by pruning. (5 marks)
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13 You have been asked to manage a woodland and conduct a survey on the area.
Discuss the considerations you should address regarding the survey, the health and

management of existing trees and future planting. Justify any actions you would take. (12 marks)
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b 7 End of examination ol





